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MAINDEC-11-DCKBL-A DIV TEST
DCXBLA.PLL
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MACY1l 27(732)

1.0

e.0
e.l

2.2
2.3
3.0
4.0
s.0
s.1

S.2
8.2.1

§.2.2

6.1

s.a

01

03-SEP-76 18:01 PAGE 2

RBSTRACT
TEHII.S Hlblf )¢ Y TEST AND ISOLATE SIMPLE MALFUNCTION
TED TO THE DIV INSTRUCTION

REQUIREMENTS
Bl e
#??“mm USES O THRU 17500

S

LORDING PROCEDURE
LORD PROGRAM USING ABS LORDER
STMT
PRESS START. Tl-E PROGRAM MILL LOOP
H‘D RING BELL ON PASS COMPLETION
OPERATING PROCEDURE
SWITCH SETTINGS
NONE

SUBROUTINE ABSTRACTS
% IS A MOVE PC,Rl1 AND STORES THE PC+2 IN R1.

MY
MLT IS A HALT INSTRUCTION.

g TN T

P MILL CAUSE A HALT AT VECTOR+2.

%g &i NUE TO PROCEDE TO MNEXT TEST

&% R BRANCH T0 PREVIOUS SCOPE
IS N%u%m rm?"h: TEST MILL

%@% o T8 L EVR LI, e,

*W &ET?WFR%EM”VEE%&" THE FOLLOWING ROUTINE

TRRPVEC: TRAPVEC+4
TRAPVEC+2: 0

.
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1

o
§
=

3 R

2 g8
i

=BROR
§§§,§§

[NJI

MACYLLl 27(732) 03-SEP-76 18:01
Tt MRl R PUTas S
+10: 10 TES SCOPE
RESTORE ALL LOCATIONS BEFORE PROCEEDING TO NEXT TEST.
7.0 RESTRICTIONS
NONE
8.0 ) o
H%% msis THE STACK POIN.CR(RS) WILL CONTAIN THE
%nzss WHMERE THE r?w OCCURED.
8.1 ON TI
B PR TReES rBOUT 1 MINUTE.
8.2 STACK POINTER
THE POGRAM INITIALLY SETS THE STRCK POINTER AT SO0.
9.0
ﬁggz: ﬁ'q al% oxv INSTRUCTION. IT TESTS DIV ON
TERNS IN ALL EVEN REGISTERS. ERROR
mus ms ano CHECKED
.TITLE mxm: 11-0CKBL-A D3V TEST
:COPYRIGHT 1972, omxm EQUIPMENT CORP., MAYMARD, MASS
:PROGRAM BY BOB BRAIN
.ENGBL ABS
.=0 : TRAP CATCHER 0 - 776
HLT=HALT
SCOPE=10701
SP=xp
PC=x7
SWR= 177570
2%=1 7
pUrerY=0
N=1
M=0
.=200
000576 e BEG
.2 1000
iCNT: O :PRSS COUNT
000500 BEG: g : , 4B :#4 STRCK AT 500 ##
% 177570 gég 'im , S8SR :WHICH REGISTER SET?
004000 17777% MOV 84000, 33PS : ALTERNATE!
000400 178532 1 ﬂag,ém
0 41
176524 176722 MOVB SR, 177770
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MAINDEC-11-DCKBL-R JIV TEST  MRCY1l 27(732)
OCKBLA.PL1

177776 010530
000000 010Se2

288 888 888 EgRes
§S% koa Rad ZEONS

§ HHHHHHHHHHHHHHHHEHHHHHHHHHHH
;TEST 2 DIV 09. 7 3 =3

00001
177776 01752
000000 010444

BoN 3R ERE Awichh

888 EEB BES BESES

03-SEP-7%

TEST 1 DIV O
L 2 2222 82222282321

2 28

3 783 3

BEQ
HLT

ol f

2834

Z8Y FR§ FRY 3

FO1
PRGE §

18:01
€ 0 s 2 s taasslacsisd i s anariatassasarsastassasalearaal
Y/78222 REM=20 PS=0
SR S 5454 % 55
s TEST OF DIVIDE
o0, sb HA&H H};H 0
:3, | E h D;SBY WITH 9
3PS, PSu :
ogqpsu ;IS PS z 0
) :PS IS WRONG
"34"0 :1S QUOTIENT = 2
] :QUOTIENT IS WRONG
'Eém” : 15 REMAINDER = 0

;REMRINDER IS WRONG

1 HEHHHHHHHHHEHHHHHEHHHEE S
REM =0 PS=0
FHHHEH I HHHHHHHH

;rsg of DIV
80, %0 :LORD HIGH WITH O
3., X0+l ‘b OM ORDER WITH 9.
83 %0 :01v n;ssv 83

aws, PSu :

ngqpsu :ISPS =0

) :PS IS WRONG

'ft.m :1S QUOTIENT = 3

) :QUOTIENT IS WRONG
ag‘,'mu ;15 REMAINDER = 0

;REMAINDER IS WRONG




MIgCP-% %-DCK&.-R DIv TEST

S
3

E

000010

&
=E
3

8
w
&

8
3
8
S

o
B
d

00l1262 012700 177777
001266 01%‘62% 177767

§§
3

1e2767 000010

128 Gl
000000

MACYLl 27(732)

010374
010366

010316
010310

:TEST 3 DIV
;un

Iv

%3 8

T

B3

HLT

FE3

TEST 4 DIV

§§§§

£83 7B 3

~E3

-] 4/ 82 =

ru§L1
n#s PSH
810,PSH
K

8-2,%0

en
80, 70+!
.+

GOl

03-SEP-76 18:01 PRGE 6

-¢ REN=0 PS =10
E:ggé Eiﬁaziéﬁg"u¥¥ﬁ".:‘
i

;IS PS =2 10

;PS IS WRONG

;IS QUOTIENT = -2
;QUOTIENT IS WRONG
; IS REMAINDER = O
;REMAINDER IS WRONG

-1-9.783=-3 REN=0 PS =10

I-ZO

I EO,
128 flrmgn
s‘xn\goeana

;ISPS =10

;PS IS WRONG

;1S QUOTIENT = -3

; QUOTIENT IS WRONG
;1S REMAINDER = 0

; REMAINDER IS WRONG
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MACY1l 27(732) 03-SEP-76 18:01

“E' 'O’xaocon

Bev ‘13
010240 MOV asPs, Psu
010232 80, PSH

gga .+

HLT

cP M, 0

BEQ .+

HLT

P 81, %041

BEQ .+

HLT

;!il!i!i!lil!!iil!il
;TEST 6 DIV

SCOPE

MOV s-1,x0

MOV 8-9. x0+1

DIV 2.
010162 MOV asPs, Psu
010154 CP8  810,PSN

asg .+

HL

cHP 84, %0

BEQ .4

HLT

cHP 8-1,70+1

BEQ .+

HLT

HO1
PRGE 7

§ HHHHHHHHHHHHHHHHHHHHHHHHHHHHH
TESTS DIV 09. 7134 REMN=s] PS=20
® RHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH HHHHH

FHEHHEHHEHHESHEEHEEHE 9533 3 9 34
SRS 3 33 3 3

(080 HicH G828 it o
bﬁ&w gﬂ NITH 9.

,IS PS=z0

;PS IS WRONG

+1S QUOTIENT = 4
;QUOTIENT IS WRONG
; IS REMAINDER =

; REMARINDER IS WRONG

H4#

-1-9, /782 =-4 REMN=-1 PS =10

1000 Hc oRtkn i -

sLORD Lw oaoen
;ISPS =10

;PS IS WRONG

;IS QUOTIENT = -4
;QUOTIENT IS WRONG
; IS REMAINDER = -1
;REMAINDER IS WRONG




MAINDEC-11-OCKBL-R DIV TEST
DCKBLA.PL!

001472
81‘%?‘!

1500
001S04 071027 |
001510

MACY1l 27(732)

010026
010020

03-SEP-76 18:01

§ SHEHHHEE 2 LHHHHHEHHHHHHHHE
TEST? DIV 09. 7 8-2=z-4 REN =1 PS s 10
SHHEHHHHHHHHHHHHHHHH

SCOPE
VT
DIV :—é'a’%’ y
MOV 3PS, PSi
gpaa #10,PSH
HLT
CMP -4, %0
BEQ .4
TR

81, %0+
A T
HLT

3 HHHHHHHHHHHHHHHHH
;TEST 10 DIV 02/ 83 =
HHHHHHHHHHHHHHHHHHHHHHHH

SCOPE

MOV 80,0
MOV 82,70+1
DIV 83,70
MOV aPs, PSU
CMP8  #4,PSH
&:? )

HL

cHP 80, %0
BEQ e}
HLT

(o) 82, 70+1
BEQ 44
HCT

101
PRGE ©

S HHHHHHHEHHEHHHHHEHEHHHH
#HHE

L% e
g‘x‘sénss BY &-2

l
;IS PS = 10

:PS IS WRONG

; 1S QUOTIENT = -4

; QUOTIENT IS WRONG
; IS REMAINDER =

; REMAINDER IS WRONG

4 HEHHHE

0 REM=2 PS=z M
L1 HHHHHHHHHHHHHHHHHH

TEST OF DIV
0RD HIGH WITH O

Eﬁ BY%R HITH 2

;ISPS = M

;PS IS WRONG

;1S QUOTIENT = 0
;QUOTIENT IS WRONG
;1S REMAINDER = 2
;REMAINDER IS WRONG




MAINDEC-11-DCKBL-R DIV TEST MACY1l 27(732) 03-SEP-76 18:01 PAGE 9
DCkBLR.P11

§ SHOHHHHHEHHHHHHEHHEHHHHHEHHHH
;TEST 11 DIV 027 8-320 REM=2 PSs Y

;!GWHMHHHH
Dies W% v 10 N ah SADER WITH O
001634 01270; % MOV 3"7&1 zL% L&a m ux*u 2
COl6%0 071027 177775 DIV 8-3.%0 :DIVIDE BY 8-3
00l6W 013767 177776 007750 WOV JeP5, P ;SAVE PS ‘
7 007742 o4, PSH 1S PS = Y4
i i =
001662 000000 HLT :PS 1S WRONG
m}gﬁ 022700 000000 g:P ugé-/.o :1S QUOTIENT = 0
16 %&% u.? ) :QUOTIENT IS WRONG
001674 022703 000002 CHP 82, x0+1 - 1S REMAINDER = 2
001700 001401 BEQ .+
001702 000000 HLT :REMAINDER IS WRONG
;lmmmimm*u
STEST 12 DIV -1 -2/ 83 =0 REM = -2 PS = 4
;nﬂmiummmmm SR 3R
001704 010701 SCOPE var) oF ox%
00.706 012700 177777 MOV 8-1,%0 :LOAD HIGH HITH -1
001712 012701 177776 MOV 8-2, x0+1 LORD LOW ORDER KITH -2
001716 071027 000003 DIV 83, %0 :DIVIDE BY &3
001722 013767 177776 007672 MOV 3PS PSi :SAVE PS
001730 122767 000004 007664 CPB  #4,PSH 1S PS = .
00173 001401 BEQ .+
001740 000000 T :PS 1S WRONG
001742 (022700 000000 cHP 80, %0 : 1S QUOTIENT = 0
001746 001401 8EQ L+
001750 000000 HT :QUOTIENT IS WRONG
1;% 022701 177776 cMP 8-2, %0+1 : 1S REMAINDER = -2
1 001401 BEQ .
001760 000CO0 HLT :REMAINDER 1S WRONG




MAINOEC-11-0CKBL-A DIV TEST
DCKBLA.P11

001762 010701

mg;a 012700 177777

00 77777

D01 774 84%524 1

0U2000 013767 177776

002006 7 000010

Soo01q ba1adt

002016 000000

002020 022700 177777

002024 001401

002026 (000000

002030 022701 000000

0020M 001401

002036 000000
000000
000000
000004
000000
000000

01

MACYll 27(732) 03-SEP-76 18:01 PAGE 10
H t 8 L s s s e ltassdiontastatassratalatsd
sTEST 13 DIV -1-1/8l=-1 REM=0 PS = 10
’ 8 2 2.2 82888 8282 82228228222 28283 c22222ssz22ssasatatsls’tsss
SCOPE TEST OF DIVIDE
g W A
bV i Is?"?ok
007614 MOV asbs, PSi
007606 g:l;s 810, PSH ,rs PS = 10
HLT :PS IS WRONG
cMP 8-1,%0 1S QUOTIENT = -1
BEQ .44
HLT :QUOTIENT IS WRONG
CHP 80, <0+1 - 1S REMAINDER = 0
BEQ .+
HLT :REMAINDER 1S WRONG
’ s 2222282282221
:TESTI4 DIV OO0/ 81 =0 REM=0 PS =
’ SR 363033 SHH 0 36 34 3-8
W T OF DIV
80, %0 HIGH WITH O
303 '? ﬁgu Lono LO:Y ogrlza WITH O
007536 n&v SnPs.Psu SMDSS
007530 CMPB  #4,PSH 1S PS =
BEQ .+
HLT :PS IS WRONG
CMP 80, %0 - 1S QUOTIENT = O
BEQ .+
HLT sQUOTIENT IS WRONG
gg co*gv.ou : 1S REMAINDER = 0
HLT ] :REMAINDER IS WRONG




MAINDEC-11-DCKBL-A DIV TEST
DCKBLR.P11

SRR ERR RS ERRRR

[ ol X o

NdZE RG22 K85 28¥dx

;
3

NO0000
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e
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g
n
o
d
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=13ls
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8
Al

i

i

MACY1l 27(732) 03-SEP-76 18:01 PRGE 11

§ SHHHHHHHHHHHHHHEHHHEHHHEHHHHHHEHHH
-1 125252 7 42 = 1S2S2S REM =0 PS = 10
SHHHHHHHHHHHHEHHHHHHHHHHEHHHH

TEST 1S DIv
#E#

#8383 §§§§§

ret

gEP
et

s SHHHHEHEHHHHHHHEHHHHHHHHHHHHHHEH
sTEST 16 DIV 0 52525 / 2 =
EEHHHHHHHHHHHHHH HHHHH

SCOPE
MOV
MOV
DIV
MOV

cHP8
BEQ
HLT
cHP
BEQ
HLT
crHP

BEQ
HLT

8-1,%0

.o

38PS PSK

81,%0+]
44

2sese
HHEHHEHEHHHHHHHHHEHHHE HHH D

T S

S 5SS 338 3 5

TEST OF DIVIDE
OAD HIGH ORDER WITH -1

éz:zotggyoggiﬂ WITH 125252

;IS PS = 10
;PS IS WRONG
;IS QUOTIENT =
; QUOTIENT IS WRONG
; IS REMAINDER = 0
; REMAINDER IS WRONG

152525

FHHHHHHHHHHHHHEE
REM=1 PS=0

; TEST SFGEIVIDE .
L0 HA SRR e

DIVIOE 8Y s2
:SAVE PS

;ISPS =0
;PS IS WRONG
; IS QUOTIENT
;QUOTIENT IS WRONG
; IS REMRINODER = |
; REMAINDER IS WRONG

= 25252

et ey




MRINDEC-11-0CKBL-A DIV TEST
DCKBLA.P11

]
f
[ d 1 4

-

5
St

000001

8
=

002310
002314
002316

5

i
il
:

002326

5

002342 071027 125252
002346

0023S4 122767 000010
002366 02270C 100000

002376 022701 000000

MRCYLL 27(732)

007316

3 SHHHEHHHEHHHE S HEHHHEHHHHHE N

03-SeP-76  18:01

MO1

PAGE 12

131 REM=z2z0 PS=0

minuumim;unium&uauummmmm

STEST 17 DIV =1 =1 / #-
novE i 81’
MOV o-x!:’igﬂ
DIV #-1’%0
MOV doPS, PSu
CMP8  80,PSH
BEQ .+
HLT
CHP 81,70
BEQ .44
HLT
cHP 80, 70+1
BEQ .+
HLT

§ SHEIIHE I 3 30JHE SR 3 S S 483

18 M
ItH -1

IGIVIDE BY 8-

} SAVE

;ISPS =0

;PS IS WRONG

;IS QUOTIENT =
:QUOTIENT IS WRONG
: IS REMAINDER = 0
;REMAINDER IS WRONG

SHHEHE

TEST 20 DIV 25253 0 / 8125252 = 100000 REM =0 PS = 10
3HHHHHHHHHEHHHHEEHHHEHHHEHHHEHHHHEHHHHHHHHHHEHEHHHHHHHEHHEHHHHHHH HHH

SCOPE
MoV
MOV
DIV
MOV

cMPB
BEQ
HLT

cHP
BEQ
HLT

cHP
BEQ
HLT

; TEST OF DIVIDE
$25253, 40 :LORD HIGH ORDER NITH 25253
80_x0+1 :LORD LOW ORDER WITH O
$125252, %0 oxvrossav 8125262
a8PS, PSl
#10,PSH -1S PS = 10

:PS IS WRONG

IiEOODO,ZO ; IS QUOTIENT = 100000

:QUOTIENT IS WRONG
: 1S REMAINDER =
;REMAINDER IS WRONG




MRINOEC-11-DCKBL-AR DIV TEST

ODCKBLA.P11

002‘418

002414
002420
002424

(on [ om ]
§.—..—
s

eg
R

Lo

\’

o
-~ N

B E

2

Bn 292ee
2 JRSgS

i f
BEE

NO1

MRCY1l 27(732)

03-SEP-76 18:01 PAGE 13

5 SRR I 3 2SI 3 33838 3038 3630 3 30 38 3600 36 30 3038 38 38 36 30 3100 36 36 38 301550 3 330 50 36 38 34 34

sTEST 21 DIV 26263 1 / 8126252 = 100000

REM =1 PS=1]

llllllliilllli!!*i!i!ilillllliiiiili**l*l!&l&l*i!lllilill!!!il*llll*

PE
Smgv 825253, %0 T% cﬂ o&n WITH 25253
MOV sl 70+] : LOAD Lou ORDER WITH 1
pIV uésasa %0 :DIVIDE BY 8125252
007170 MOV 8PS, PSH :SAVE PS
007162 CMPB  ¢10,PSW 1S PS = 10
BEQ L+
HT :PS 1S WRONG
gEng :igoooo.m .15 QUOTIENT = 100000
HLT ] sQUOTIENT IS WRONG
gEm o‘x_qmu : 1S REMAINDER = |
HT ) :REMAINDER IS WRONG
i*lili*!!!!ll*l*l!!!*l*i!lililil&!*l*l********&**ii**iii*iiilliiii*l
TEST 22 DIV 37777 77777 + 877777 = 77777 REM = 77776 PS = O
l**!**!**!*!&*!**li!**iiilll*iii!i!!**i!!**i**!*li!il*i**!!***!!*!i{
SCOPE : TEST OF DIVIDE
MOV 837777, %0 ,Lono HIGH ORDER WITH 37777
MOV 877777, %0+1 :LOAD LOW ORDER WITH 77777
DIV 87777770 :DIVIDE BY 877777
007112 MOV asPs, PSu :SAVE PS v
007104 CMPB  80,PSH :ISPS =0
BEQ .+
HLT :PS IS WRONG
BECH’ IH77777,’/-0 ;IS QUOTIENT = 77777
HL? ) -QUOTIENT IS WRONG
% nwnm,mu : 1S REMAINDER = 77776
HLT ) :REMAINDER IS WRONG




MAINDEC-1]1-DCKBL-A DIV TEST
DCKBLA.PLL

002Sue 810701
0Ccsws 012700 000000
oy BTH 63
002Sb0 0i376? 177776
ooy B0tady

002576 000000
oon fiaan | ox

002606 000000
A

B4
16

00ce20 010701
ot Qi70) joo0)
0C. o2 102'; GDII%
0023% 013767 17777%
Dote il

002654 000000
040000

14901
000001

S

MACY1l 27(732)

03-SEP-76 18:01

BO2
PAGE 14

!lilllllll!l!!illililill!lill!illl!lllill!illllillll’ll!i!lllllil}ll

sTEST 23 DIV 0 100000 / 82 =

REM =0 PS=0

llli{lill{llllillll{!Ii!llllllllllli’illiil!llll!lllil!lill!li!!llll

@Dxﬂﬂ

ackspsu

DIV
MOV

cHP8
BEQ
HLT

ot

.094
e40000, <0
.44
)

~E3

3 SHHHHHHHHHHHHHHHHEHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
;TEST 24 DIV 0100001 » 82 = 40000 REM =1 PS =0
s SHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH

novE E 80, %0

MOV :éﬁomx,xou

DIV %0

MOV asPs, Psu

CPB  80,PSH

BEQ .+

HLT

gv $40000, 10
Q .+

T

cHP 81,%0+1

s:g .44

HL

:EST OF OIv
HIGH %H
b WITH 100000

;ISPS =20

;PS IS WRONG

;IS QUOTIENT = 40000
;QUOTIENT IS WRONG

; IS REMAINDER =z O

; REMAINDER IS WRONG

HHHHHHHHHHHE
HHHHHHHHHHHHHHHHHHHHHHHHHHHH HHHHH
; TEST OF DIVIDE
Lono HIGH OFDER WITH 0
?ff? O M‘BER WITH 100001
IS PS=0
PS IS WRONG

; IS QUOTIENT = 40000
;QUOTIENT IS WRONG
;1S REMAINOER = 1
;REMAINDER IS WRONG




MATNDEC-11-DCKBL-A DIV TEST
DCkBLA.PL!

REaR

002704

002710

0Ce?18 01
)

} § ENE

1 6a3 o

;

0C=7Sb

18 B

A B2 B

MACY1l 27(732)

006672

006614

03-SEP-76 18:01

$ IHHHHHHHHHHHHHHHHHHHHHHEHHHHHHHHHHH
TESTES DIV 20000 37776 / 877777 = 40000
HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH

REV X0
N
MOV 3PS, PN
CP8  80,PSH

8EQ .+

HLT

CHP 840000, X0
azg .4

ML

P 877776, %041
m? .4

HL

SCOPE
MOV 8177777, %0

B s "%‘
MOV %
CHPB

BEQ A

MLT

cHP 40000, X0
BE .+

HL

cMP 8177777, %0+1
E .ﬂ

co2
PRGE 15

HHHHHHHHH
REM = 77776 PS = 0

HHHHH

%& % NITH 20000
oag%num I777%

r

L IR IR IR T3 1]

;ISPS =0

;PS IS WRONG

;1S QUOTIENT = 40000
;QUOTIENT IS WRONG

; IS REMAINDER = 7777%
; REMAINDER IS WRONG

3 SHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
;TEST 26 DIV 177777 77777 /7 8177776 = YOOOO REM = 177777 PS = 0
HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH

(50 N1 KIGH &H‘fﬂ” 77777
oo

;ISPS=0

;PS IS WRONG

; IS QUOTIENT = 40000
;QUOTIENT IS WRONG

; IS REMRINDER = 177777
;REMAINDER IS WRONG




D02
6

MAINDEC-11-OCKBL-A DIV TEST  MRCY1l 27(732) 03-SEP-76 18:01 PRGE |
OCKBLR.PI11

+ HEHHHHHHHHHHHHHEHHHHHHHHHHEHHHEHHHHEHHHHHEHHEHHEHHHHHHHHHHHA
;TEST 27 DIv 157777 100001 » ¢100000 = Y0000 REM = 100001 PS = 0
SHHHHHEHHHHHEHHHHHHHHHEHHHHHHHHHHHHEHHHHHHHHHHHHHHHHHHHHHHHHHHH S

1

s U 15 RV e ool i T3 °§eﬂ %8 uimh 157777

0C.«40 oxagg; 10071 MOV 1 ; %m 100001

0C30W 071 10C 0 Dlv ;

003050 013767 177776 0065 MOV :

7 000000 006536 :ISPS =0

s B5Tett b ;

003066 0GO000 T :PS IS WRONG

003070 022700 (040000 cP 40000, %0 . 1S QUOTIENT = 40000

003074 001401 BEQ L4

003076 000000 :QUOTIENT IS WRONG

003100 gzm 100001 £100001,%0+1 ;1S REMAINDER = 100001

00314 061401 BEQ v

003106 000000 T :REMAINDER IS WRONG
'TEST 30 DIV 0 52525 / #5525 = | REM =0 PS = 0

003110 01070 SCOPE

unaug 31270:11 00r00 MOV 80,0 ra) HIGH o&n MITH O

2 MR G s o

utmg 13767 177 006466 nsv ks,

00313 122767 000000 006460 CP8  90,PSH :ISPS = 0

003142 001401 BE .+

003144 000000 W :PS IS WRONG

00314 022700 000001 CHP 81,40 1S QUOTIENT = |

003152 00140} BE L+

003154 (000000 HL :QUOTIENT IS WRONG

003156 022701 000000 CMP 80, X0+1 1S REMAINDER = 0

003162 001401 BEQ .+

003164 000000 HLT :REMAINDER 1S WRONG




-

MAINDEC-11-DCXBL-R DIV TEST  MRCYll 27(732) 0O3-SEP-76 18:01 PRGE 17
DCXBLA. P11

PTEST 31 DIV 0 52524 / 852526 = 0 REM = 52524 PS s Y

ﬁig 1978 000000 RV T 80,%0 ; %&x&.ﬁ.m
e P k= i ERE O
177776 008410 MOV Ps,
1IC" 7 ™ PS =z ¥
g @ 000DOM 006402 g:;a Aps" .xs s
003222 HL :PS 1S WRONG
00000 cHP 80,0 1S QUOTIENT = O
0 401 aeg .+
HL -QUOTIENT IS WROMG

0032 022701 0S2SM &m -&asa.mx : 1S REMAINDER = 52624
%3 PL? ) sREMAINDER IS WRONG

'TEST 32 DIV 0OC / 8125252 =0 REM =0 PS = 4

;Wﬂm
0032 010701 SCOPE s TEST OF DIVIDE
003246 012700 000000 MOV w,% .L%HG!MHTHD
003252 012701 00C.0G MOV 80. x0+1 ORUER WITH O
003256 071027 125252 DIV sl %0 %nssav 8125252
003262 013767 177776 006332 MOV asks,
%;2 1 I 0000OM 006324 P rhpsn IS PS = 4
003300 000000 T ] :PS 15 WRONG
003302 :zzzgl 000000 gw ngqxo 1S QUOTIENT = O
% M nJ ) :QUOTIENT 1S WRONG
%%‘E mi 000000 g‘n; n%xmx : 1S REMAINDER = 0
003320 000000 HLT ) :REMRAINDER IS WRONG




S

§

ACY1l 27(73R)

0062SH
006246

2

]

L
L

§§§§§§

2

FO2

03-SEP-76 18:01 PRGE 18

3 SHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHEHHHHHHHHHHHHHHH
;TEST 33 DIV 177614 66560 / #4042 = 177070 REM = 0 PS = 10
§ SHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH

8PS,

?13.?91 ;IS PS = 10
:PS IS WROMG
oizmo,m ; IS QUOTIENT =z 177070
;QUOTIENT IS WRONG
|94xo+1 ;1S REMAINDER = 3

; REMAINDER IS WRONG

215513 DIV 0 77777 7 80 = DUPPtY REM = DUPRTY PS = 3
Lk 2 % 2 2 2 22 22 s 22222 82022222 %2284 s

. ¥ DIV
0 5L|% HIGH o&n HITH O
nﬁ#?,m ‘50' O ORDER WITH 77777
2 0peu : "-Dtsm 0

81y, PSid e
83, PSN IS PS = 3

.+
;PS IS WRONG

t 240




MAINDEC-11-OCXBL-A DIV TEST
OCKBLA.PL!

faa s
B S
=

EE

G02
PRGE 19

MACY11 27(732) 03-SEP-76 18:01
H { o ]
+TEST 38 0Iv 77777 177777 7 82 s DUMMY REM = DUMMY PS = 2
;ummmummmmm
SCOPE
RV w70 I% STC SRDER WITH 77777
MOV 37777?,::0#1 NITH 177777
DIV %0 ots 3
006132 3PS, PSi
006124 gic 81y, PSid
00k116 CMP8 82,PSH :ISPS = 2
BEQ 44
HLT :PS IS WRONG
;m & $3-HHMHHRHHEE B 55 4 4
STEST 3 DIV DM/ 82 =2 REM=0 PS =0
s SHHHHHHHHH
SCOPE rssr OF DIVIDE
MOV 00, 22 LORD HIGH ORDER WITH O
MOV B %241 .Lono OM ORDER WITH 4
DIV 82 %2 : otsav 82
006066 MOV ashs, PSi :
006060 CP8  80,PSH :1SPS =0
BEQ .+
HLT :PS IS WRONG
CMP 82, %2 - IS QUOTIENT = 2
BEQ .44
HLT :QUOTIENT IS WRONG
&m '24"’” - 1S REMAINDER = O
HL -REMAINDER IS WRONG




MAINDEC
OCKBLR.

;Hm-ﬂ DIV TEST

aaooo
Pt Pt Pruce
[

1

5
EE

1 ek k&2 ERge]

B

o
B &
oqeee

SERE

:
d
:

d 64 Es

& &

:

MACYLl 27(732)

006010

; SHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
;TEST 37 DIV 39. /8323 REN=0 PS=0
HHHHHHHHH

03-5eP-76 18:01

HO2
PRGE 20

§ HHHHHHHHHHHHHHHEHEHHHEHH

28

O
—
<

3 B3 #Rg 3

R
-0

'TEST 40 DIV

2228

ZBY ERg AR 3

, e
22

3PS, pPsu

"

FHHHHHHHHHHHHHHHH

;% %sae*a%?a R

;ISPS =0

;PS IS WRONG

;IS QUOTIENT = 3
;QUOTIENT IS WRONG
; IS REMAINDER = 0

; REMAINDER IS WRONG

-l -4/82=-2 REN=0 PS=10

1

Ol ORDER WITH

g‘I‘x{BY

;IS PS = 10

;PS IS WRONG

; 1S QUOTIENT = -2

; QUOTIENT IS WRONG
; 1S REMAINDER = O
;REMAINDER IS WRONG




MAINDEC-11-OCKBL-A DIV TEST

DCKBLA.P11

8

§ a2gq2ee
Nl

~

%
:

;
&

\7rrre
177767

1
000010

177775

000001

MACY1l 27(732)

00S646

005570

TEST 44 DIV

@%

O
<

3 7R3

BEQ
MLT

B3

et

5 SHHHHHHHHHE

03-SEP-76 18:01

Mt e
83.%@
anbs.Psu

810, PSH
.”
8-3,%2
.”

80, 2+1
4

PAGE 21

-1 -9.7/7833-3 RRMN=30 PSs !0

NITH -9,

5] S
iy

;IS PS = 10
:PS IS WRONG
; IS QUOTIENT = -3
;QUOTIENT IS WRONG

;1S REMAINDER = 0
;REMAINDER IS WRONG

TEST‘GE DIv 09. /782 =4 REM=2] PS=0

g 283 §§§§§

3

BEQ
HLY

S

TEST OF DIVIDE
ORD HIGH ORDER WITH O

bﬁ&w %R WITH 9.

,IS PS=0

;PS 1S WRONG

+IS QUOTIENT = 4
;QUOTIENT IS LRONG
;1S REMRINDER = |

; REMRINDER IS WRONG




MRINDEC
OCKBLR.

-ﬁ-OCKR.-ﬂ DIV TEST

0040Se

Bl

004070
004074

B 115
004112
004114

0041
004122

it B

figs

{55
000002
177776
000010
1777

77z

000000
000011
177776
177776
000010

8% §88 58888

JN SFE KFRY

\77T

:

000001

258
SR

MACYLl 27(732)

005520
005512

0,0 2
00S434

03-SeP-76 18:01

s
sTEST 43 Dlv -1 -9, /
¢ SHHHHHHHHHHHHEHHHHHEHEHE

JOe

$2z-4 REN=-1 PS =10

4%
, : OF DI
o 00 e i
B S, 08 ISR !
DIV 8, %d :DIVIDE BY 82
MOV asbs, PSi :SAVE PS
?B 810, PSH IS PS = 10
Q .+
LT :PS IS WRONG
cP -4, %2 : 1S QUOTIENT = -4
BEQ 4
TR :QUOTIENT IS WRONG
gw o;s,xau - 1S REMAINDER = -|
&? ) -REMAINDER IS WRONG

3

;uuuuu&mn
STEST Y4 DIV 0 9. / 8-2 = -4
’ 2 3
SCOPE
MOV 80,2
MOV 83, %2+1
DIV 8-2' %2
MOV JPS, PSu
CMPB  810,PSH
BEQ .44
HLT
cHP -4,
BEQ _ 44
HLT
cHP 81,7%2+1
BEQ .+
HLT

REM =1 PS =10

; TEST OF DIVIDE

L8 S ESI
;DIVIDE BY 8-2

;SAVE PS

;13 PS = 10

;PS IS WRONG

;IS QUOTIENT = -4
;QUOTIENT IS WRONG

;IS REMRINDER = |
;REMAINDER IS WRONG

TR SR
FH S 30 3 I SIS SHHE T 5534 3330 9




MAINDEC-11-OC¥BL-R DIV TEST

DCkBLA.PI1

e
012703

eq
§

BRI E

MACY1l 27(732) 03-SEP-76 18:01

KO2

PAGE 23

§ THHEEHEHHC I IS IS5 38 00 00 36 3-8 -5 SH00 00 30 30 4030003038 3000 30 90 30 44303338 36 90 94 9

;TEST4S DIV 02/ 830 REM=2 PS =Y
3 HHEHHHHHHHEHHEHHEHHHHHHHHHHHEHHHHEHHHHHHHHHHHBHHHH HHHH

a5

MOV  3sbS,PSH

Ba
HLT

cHP
BEQ
HLT

cHP 82
BEQ .+
HLT

%2

18

7Z2+1

18 Hcum

DIVIDE BY 83

.IS PS =

:PS IS WRONG

;IS QUOTIENT = 0
:QUOTIENT IS WRONG
; 1S REMAINDER = 2

; REMAINDER IS WRONG

5 SIS 3000 3 S0 3 I T30 38 00 338 36 3400 3130 3 3 3 38 3 SHEHH IHEHEHEHHHHE HEHHEEHE TN

!TEST4 DIV 02/ #-3=0 REM=2 PS= Y4
EEHHHHHEHHHHHHHHHH HHHHH HHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH

SCOPE
MOV

80, x2
MOV 82 72+1
DIV 8-3,72
MOV 3PS, Psu
CMPB  84,PSW
BEQ .+

HLT

cMP 80, %2
BEQ .+

HLT

cHP 82, %2+1
BEQ .44

HLT

|SST OF DIV
L HIGH NITH O
sLORD LOW ORDER WITH 2

g&séDsSBY -3

;IS PS =

;PS IS HRONG

;1S QUOTIENT = O

; QUOTIENT IS WRONG
; IS REMRINODER = 2

; REMAINDER IS WRING




L02

MAINDEC-11-DCKBL-R DIV TEST  MACYll 27(732) 03-SEP-76 18:01 PRGE 24
DCKBLA.P11

3 SHHHEHHHHHHHHHEHHHEHEHHEHEHEHHEHHEHE NN
TEST 47 DIV -1 -2/7 8320 REM=-2 PSSz Y4

llll!lill!lll!ll!illlill!ll t s S sl sssasacannlll
00434 010701 SCOPE -TEST OF DIVIDE
0043s0 012702 177777 MOV 8-1,% :LORD HIGH ORDER WITH -1
004354 012703 177776 MOV 8-2, %2+1 :LORD LOW ORDER WITH -2
004360 071227 000003 0IV 83,72 :DIVIDE BY 83
004364 013767 177776 005230 MOV 3PS, PSH : SAVE
004 7 00000M 00S222 CMPB  #4,PSH IS PS = Y
004 1 BE .+
HL PS IS WRONG
0OWMOMN (022702 000000 cHP 80, %2 1S QUOTIENT = O
004410 001401 BEQ .44
OOw412 000000 HLT :QUOTIENT IS WRONG
OOWIN 022703 17777% CMP 8-2,%2+1 :1S REMAINDER = -2
00Y420 001401 BEQ L+
00w422 000000 HLT :REMAINDER 1S WRONG
!*!i!*i**&!i*&**iiliiii*i!i*!*!lﬁl*llil*iii**&*i!*i*i*lliiiii!il!l!i
ITESTSO DIV -1 -1/81=-1 REM=0 PS =
l{ii&illﬁi!ii!ilii*’i{llllilliil{lili!iillﬁii!il!illi*li!lliiil!ilii
00%424 010701 SCOPE :TEST OF DIVIDE
004426 012702 177777 MOV 8-1,%2 LORD HIGH ORDER WITH -1
00432 01 177777 MOV 8-1,%241 5 (Y oaoen NITH -1
004436 071 000001 DIV 81.%2 IVIDE BY
OOMM42 013767 177776 00S152 MOV ashs, Psu :SAVE PS
0OwW4SD 122767 000010 00SI44 CMPB  810,PSK 1S PS = 10
004456 001401 BEQ .+
004460 000000 HLT :PS IS WRONG
DO4462 177777 8-1,72 : 1S QUOTIENT = -
B =
004470 000000 HL : QUOTIENT IS WRONG
00¥W472 022703 000000 cHP 80, %241 : 1S REMAINDER = 0
004476 00140]1 BEQ C+4
000000 HLT ;REMAINDER IS WRONG




MRINDEC-11-DCKBL-R DIV TEST

DCKBLR.P11

i i 0 020

004554

2
:

i 1 248 i

=
§

5
-~ N

2 Bel Ba §

G B B W

MRCYLLl 27(732)

005016
00010

MO2

03-SEP-76 18:01 PRGE 25

8 SHTETEI S S SR I T S I I 30 360 00 36 00 38 0838 30 36 36 30098 38 38 3430 30 96 36 98 36 38 3% 3% 1 3696 34 96 96 3 334

STESTSL DIV 0O/ 8l =0 REM=20 PS = Y
;llillliill!l!i!i!!!i!l!llil!llill!iiililil!lllilll{llll!il!l!{l!llll

SCOPE
MOV

MOV
DIV

MOV
Y
HLT

cMP
BEQ
HLT

cMP
BEQ
HLT

80, %2
LS

48PS, PSH
0™, PSH
g0

A
e

80, 72+1
4

s TEST OF DIVIDE

;LORD WIGH ORDER WITH O
;LORD LOW ORDER WITH O
:DIVIDE BY 8l

:SAVE PS

:ISPS = 4

;PS IS WRONG

: IS QUOTIENT = O
sQUOTIENT IS WRONG
;IS REMAINDER = O

; REMAINDER IS WRONG

5 SHHHHHHHHHHHEHHHHHHEHHHHHHHEHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
-1 125252 7 82 = 152525 REM =0 PS = 10
3 SHEHHHEHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH

:TEST 52 DIV

SCOPE
MOV
MOY
DIV
MOV

CHPB
BEQ
HLT
cHP
BEQ
HT

cHP
BEQ
HLT

; TEST OF DIVI
;LORD HIGH WITH -1

8]
:éasgga,xa+1 :LOAD LOW ORDER WITH 126262

%
38PS, PS
810, PSW
.

:DIVIDE BY 82
;SAVE PS

;ISPS =10
;PS IS WRONG

li&&S&S,%a ; IS QUOTIENT = 152525

724
80,2

; QUOTIENT IS WRONG
; IS REMAINOER = 0
; REMAINDER IS WRONG




NC2

MAINDEC-11-DCKBL-R DIV TEST  MACYLl 27(732) (03-SEP-76 18:01 PRGE 26
DCKBLR.P11

5 SHERIHHHHEIHEIHHEEE S I I 033006 38 00 90 30 3003630 38 00 30 36 90 96 3638 36 36 38 36 36 36 36 90 26 003 36 % 3% 3¢ 3¢ 38 3¢ 3¢

{TEST 53 DIV 052526 / 82 = 25252 REM = 1 PS = 0
SRR S

004636 010701 SCOPE ; TEST OF DIVIDE
004640 012702 000000 MOV 80, %2 sLORD HIGH ORDER WITH O
oo46Wd 01 052525 MOV 852535, %2+ :LOAD LOW ORDER WITH 52525
004650 071 000002 DIV 82 %2 :DIVIDE BY 82
004654 013767 177776 00470 MOV asPs Psu :SAVE PS
7 000000 004732 cMe8  $0,PSK :1S PS = 0

m%:% 1401 BEQ .+ ’
004672 000000 HLT :PS IS WRONG
0O4e74 022702 025252 CMP 825252, %2 - 1S QUOTIENT = 25252
004700 001401 BEQ L+
004702 000000 HLT sQUOTIENT IS WRONG

022703 000001 CMP 81, 72+1 : 1S REMAINDER =
004710 001401 BEQ .+
004712 000000 HLT :REMAINDER IS WRONG

5 SHIHIHHHHHEEHHHHHHHEHEHHHHHHHHHEHHHHEHHHHHHEHHHHHHEHHEHHEHHHHEHHHHHHHH
;TESTSY4 DIV -1-1/8-1=1 REN=0 PS=0
3 S HEHHHHHHHHHHHH I HHHHHHHHHHHHHEHHHHHHHHHHHHH

004714 010701 SCOPE TEST OF DIVIDE

004716 012702 177777 MOV 81,72 :LORD HIGH ORDER WITH -1
004722 (0l \77777 MOV 8-1.%2+1 5 OW ORDER WITH -1
004726 071 177777 DIV 8-1% IVIDE 8Y 8-1

00N732 013767 177776 004662 MOV asPS Psu :SAVE PS

0OM790 122767 000000 004654 CMPE  80,PSH <ISPS =0

004746 001401 BEQ .+

004750 000000 HLT :PS 1S WRONG

00475 (022702 000001 cHP 81,72 +IS QUOTIENT = 1

004756 001401 BEQ .+

00M760 000000 HLT :QUOTIENT IS WRONG
004762 022703 000000 CMP 80, 72+1 1S REMRINDER = 0
004766 001401 BEQ .+

0C4770 000000 HLT ; REMAINDER IS WRONG




MAINDEC-11-0CKBL-A DIV TEST
DCKXBLA.P11

i

18552
l

000010

i 08 B3
;

&

100000

Q
b
8
=

el |
B B

o

<

4 B

177776
000010

100000

000001

Aid HAR B

WRE TRR IR
dEd

MACY1l 27

BO3

(732) 03-SEP-76 18:01 PRGE 27
Hmmﬂmﬂml“mm{mﬂuuﬂ
TESTSS DIV 25253 0 - 8125252 = 100000 REM = 0 PS = 10
S48 H-4H R H P R A R A R HE R R B R R R R B 5 5
SCOPE
MOV QR n&c‘n gn 26253
+
DV a1aesis o av o0
MOV ks,
&n 810, PSH .xs PS = 10
&? :PS IS WRONG
gg; ‘i.,m"‘a :1S QUOTIENT = J00000
LT ) :QUOTIENT IS WROMG
CHP 80, 7241 1S REMAINDER = 0
BEQ .+
HLT :REMAINDER IS WRONG

'TEST S6 DIV 25263 | 7 8125262 = 100000 REM = § PS = 10

.
1

4+

W casasa % I% &'cu o&n uxm 26253
Dlv  §1seSed xo t?ﬂk

MOV 39PS PSl

CP8  e10,PSH .xs PS = 10

BEQ . +4

"Ri :PS 1S WRONG

gv qgnan.xz :1S QUOTIENT = 100000

u.? ) :QUOTIENT IS WRONG

gl; ohml 1S REMAINDER = |

HLT ) sREMAINDER IS WRONG




MAINDEC-11-DCKBL-A DIV TEST  MACYll 27(732)
OCKBLA.P11

C!JS}ES 0}0701
g
140 l
00S1W 013767 177776 (QOM4SD
00S1S2 12277

005160 001401
00S16e

139

00s172

8

G EE
B

E

oy
$ 6 Y
M.

i
i

=Ry 28Y 3233

-

F

38

o

=
<

Z8g £Rg 2

RS

-0

C03

03-SEP-76 18:01 PAGE 28

§ HHHHHHHHHHHHHHHHHEHHHHHHHHHHHHHHHHHH HHHHMEHHHHHHHHHHHHHHHHHH

sTEST S7 DIV 37777 77777 / 877777 s 77777 REM 3 77776 PS 2 0
FH IR AR RN AL S RAAAA PR P

A

3PS, PSu

-gﬁpsu :ISPS =0
] :PS 15 MRONG
lzﬂ?,ﬂ " ;1S QUOTIENT = 77777

:QUOTIENT IS WRONG
cﬂm.xau : 1S REMAINDER = 7777%
) :REMAINDER 1S WRONG

§I§srw DIV 0 100000 7 82 = 40000 REM = 0 PS = O

0,52 "% OTe SADER WITH O
100000, x2+1 OM ORDER WITh 100000
82, %@ BY

asPs, PSi :

ugﬁpsc :ISPS =z 0

) :PS IS WRONG

o-:gmn.xz :1S QUOTIENT = 40000

) :QUOTIENT IS WRONG

l%%?ﬂ ;15 REMAINDER = 0

; REMAINDER IS WRONG




MRINDEC-
DCKBLR.P

Hm-ﬂ DIv TEST

; HHHHHHHHHHHHHHHHHHHHHHHH HHHHHHH
; TEST 61 DIV 0 100001 s a2 = 40000

004230

MRCYLl 27(732)

03-5EP-76 18:01

.é%l X2+l

73 §%§§§

D03
PRGE 29

BRE
RRM=s] PSs0

unmx

.m HIGH % ll TH O
B

;I1SPS =0

;PS IS WRONG

;1S QUOTIENT = 40000
;QUOTIENT IS WRONG

; IS REMAINDER = |
;REMRINDER IS WRONG

asks, PSi
.A
HLT
&v 840000, %2
g .+
H
cHP 81, %2+]
asg .+
M
'TEST 62 DIV 20000 37776 /
SCOPE
% R,
MOV aws.réu
cP8  80,PSH
BEQ .+
HLT
5, $40000, %2
acg .4
ML
() 877776, 7241
BEQ .4
HLT

877777 = 40000 REM = 77776 PS = 0

138 Rt G80en wir zoomn
gaa BY 877777

;ISPS =20

:PS 1S WRONG

; IS QUOTIENT = 40000
;QUOTIENT IS WRONG

; IS REMRINDER = 7777%
; REMRINDER IS WRONG




MAINDEC-11-DCKXBL-A DIV TEST  MACYL1 27(732) (03-SEP-76 18:01 PRGE 30
OCXBLA.PLL

SHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHEHH HHHHHHHHHHHHHHHHHHHHHHHH
TEST 63 DIV 177777 77777 7 8177776 = YOOO0 REM = 177777 PS 2 0
SHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHEHHHHHHHHHHHHHHHHHHHH HHH

mesm 10701 SCOPE s TEST OF DIVIDE
1 5 oV : fexgl i "&?‘ ¥ HW‘ 74777
m ?’i%i B?‘J 8l X :01v otsavud%
OOSMN 013767 177776 004160 MOV JPS, :
7 000000 004152 80, PSH ;1S PS = 0
B3 i oW
HL :PS 1S WRONG
mﬁ}%ﬁ‘! CG”?;’IE_ 040000 &FP mumw , %2 ;IS QUOTIENT = 40000
e Gudead = . :QUOTIENT IS WRONG
OOSMEM 022703 177777 cP 8177777, %241 ;1S REMINDER = 177777
005470 C.1401 BEQ .4
005472  000GOO HLT :REMAINDER IS WRONG
;m&mm&mummmmmmm
:TEST 64 DIV 157777 100001 ~ #100000 = %0000 REM = 100001 PS = O
;m&mummmmﬁummmmmmmm
SCOPE : TEST OF DIVIDE
157777 MOV sl i L u&m OR” ugu 57777
hicl % HERE e
1 plv sl :01viDE By 81
177776 0OM102 MOV asPs, Pshi :SAVE PS
90, PSH ;1S PS
000000 OONO7Y gra <, =0
HL :PS IS MRONG
OMO00D g‘m r’ognm.xz - 1S QUOTIENT = 40000
H ) :QUOTIENT IS WROMG
100001 gw nbt‘mm,wx 1S REMAINDER = 100001

H ; REMAINDER IS WRONG




FO3

MAINDEC-11-DCKBL-R DIV TEST  MRCY!l 27(732) 03-SEP-76 18:01 PRGE 31
DCKBLR.P11

TESTSS DIV 0 52525 / 952528 = | REHtO PS =0
§ HHHHHHHHHHHHHHHHH H

% M 12708 ooonmo oy 105 HioH oRCE T

§ 30 % % i AR
005570 013767 177776 0OMO24 mov 3PS, P8

QUSS7% 122767 000000 OCMO16 oPs  e0,Psy .xsps:o

D6Se0e 000000 WY ;PS IS WRONG

Q610 G2e7ge 00000 - A :16 QUOTIENT = |

00S6l6 000000 wt ;QUOTIENT IS WRONG

gres2g ﬁﬁ 000000 g‘n?’ 10,7241 ;1S REMAINDER = O

00526 H ;REMAINDER IS WRONG

ITEST 66 DIV 0 52524 / 952625 z 0 REM = 5264 PS = Y
HHHHHHHHHHHHHHHHHHHHHHHHHE HHHHHHHHHHH

.
’

. 1 000000 MOV 80, 2 | L Hlﬂ’lwﬂ_? H?%Hmsgsa
i3 0 B Y ESE e

013767 1} 003746 48PS,
0pcesy 122767 000004 003740 CrPB 4, PSH ;ISPS =2 8
u 140 BE .+

[, & ;PS IS HRONG

m% 000000 80, X2 :IS QUOTIENT = 0
o o 1401 BEQ Y]
0CseN 000000 HLY ;QUOTIENT IS WRONG
005676 (022703 05254 cP 852524, “@2+1 ;IS REMAINDER = SgSeM
0Cs702 001%0] BEQ .
00s70q 000000 HLY :REMRINDER IS WRONG




MRI

C-11-0CKBL-A DIV TEST
DCKBLA.PLI

Boari

00S7 1M

4 i ol o
e

i
9

006010
006016

R ERE

17
§i47e?

6'_ 7

JEd B

o000
b-“.—'g
ps

Rl

§
=

$ Bl Ee
§

8
=]

3

J
druo

i § 6

#3
2

§§
n

10

177070

MRCYIl 27(732)

003670

00312

sTEST 67 DIV 00 / 8125252 =0 REM =0 PS = 4
s SHHHHHHHHHHHHHHHHHHHHHHH

03-SEP-7%

GO3

18:01 PwGE R

S
oV
it
4

o

3=

F S

80, x2
80, @2+
1isee 2

12
¢

18

18
3

T IS o
ot

ISPS =z M

:PS 1S WRONG

;IS QUOTIENT = 0§

; QUOTIENT IS WRONG
;1S REMRINDER =z 0
;REMAINDER IS WRONG

EBg £8§ KBy 32330

Yo,
R
#10,PSH

.

8177070, %@
.

.ng“zau

2155770 DIV 177614 66560 / WMOM2 = 177070 REN = O PS = 10

38 ety
;w%m 02

;IS PS =2 10

;PS IS WRONG

; IS QUOTIENT = 177070
;QUOTIENT IS WRONG

;1S REMRINCER = O
;REMAINDER IS WRONG




MATNDEC-11-DCKBL-R DIV TEST

OCkBLA.P11

006106
006110

0Ce1l24
006132

006140
OC6146

01070
01a?

i
13767
0N2767

122767

GJHOE

010701
012702

013767
0427867

122767
0014C!
000000

3 BN

3R

HO3
PRGE 33

MACY1l 27(732) 03-SEP-76 18:01

SIS S S N S 300 I 30 53 3 03 336 0 3
TEST?I DIV Q77777 7 80 = DUMMY REM = DUMMY PS = 3
* SHHHHHHHHHHHHHHHH

’ L 2 8.2 L 22d t s aataslastdlatlisssids]
SCOPE : DER
MOV % .l uxcn 0F” u;um 0
n?v ’ %241 b Dts
piv
003SM MOV aabs PSH
003526 BIC 814, PSi
003520 CMPB  83,PSH IS PS 3 3
acg e
ML :PS IS WRONG
;INIII»
;155172 DIV 77777 177777 7/ 82 = DY REM = DUMMY PS = 2
SCOPE s TEST OF DIVIDE
Y T2 L3N0 HIGH CROER WITH 77777
v b?“?ot 4 ORaEr
003470 MOV acﬁs PSH
003462 BIC 814, PSi
003454 CMPB  82,PSH 1S PS = 2
8EQ .44
HLT :PS IS WRONG




MINIC-H-OCK&-R DIv TEST

DCKBLA.

010701
012704

31502

013767
B1e1
000000

02270

ml'ﬁ]é

ol

E?".
N Ee

&

azfag
=
:

oo

4

f
o
a
=
o
[,
[ ]

P F BN

8 5k BE

MACY1l 27(73R)

003416

03-SEP-76 18:01

TEST 73 DIV O 4/ 82 2 2
S B S SHHHEHE

SCOPE

hov 5’&»1

3?3 82 x4

MOV 3PS, PSu

So WP

HLT

CHP 82,7

K? .44

HL

CHP 80, X441

BEQ .+

HLT
m&m&um&mu

sTEST74 DIV 09. /83=3 REM =0

103
PRGE 4

HHHHHHHHHHHHHHHHHHHHHHEHHHHHHHHHHHHHHH
REN = 0 PS =0
HHHHHHHHH

.Eg HIGI omen WITH O

bﬁ&ﬁi%ﬁﬂlmﬂ

,IS PS=0

:PS IS WRONG

;IS QUOTIENT = 2
;QUOTIENT IS WRONG
; IS REMAINOER =z O
;REMAINDER IS WRONG

PS =0

HW“M*HWMWWW“MM

§§§

o
<
B

Z83 ERY AB 3

N

Y+1
, PSH

; TEST OF DIVIDE

HIGH ER W
D%ﬁ BY 83 HI%

;IS PS=0

;PS IS WRONG

;1S QUOTIENT = 3
;QUOTIENT IS WRONG
; IS REMAINDER = 0
;REMAINDER IS WRONG




=

MAINOEC-11-DCKBL-R DIV TEST
OCKBLA.PL!

oro3e Q0701
00310 012704 177777
5.o3d BITB Moo
00634 013767 177776
Cog doiear 01
006342 000000
Qg feiwgl e
000000
022705 000000

s &

B1970%

Q714e?
013767

177777
177767

177776
000010

it

122767
001401

i

:

\7777%

:

00140}

g
8

i

MCYL1 27(732)
'TEST 75 DIV
;l
SCOPE
AGV
BeY
003270 MOV
003262 e
HT
%a
Ri
&%
i

003212

Ja3

03-SEP-76 18:01 PAGE 35

FHHHHHHHHHHHEHHHHHHHHHEHHHHNHE S HHHHH

-1-4/7%2=-2 REN=0 PS=10
SR S22 liasd
s TEST OF DIVIDE

:;1' a , :LORD HIGH oaosa“sx%u_;x
£ ooy O

anbs, PSi :SAVE PS

lig,PSH ;1S PS = 10

) :PS IS WRONG

u;s,m 1S QUOTIENT = -2

) :QUOTIENT 1S WRONG
ongx : 1S REMAINDER = 0

; REMAINDER IS WRONG

3 SHHERHE IS IS S HHHEHE S I

:TEST 76 DIV

-1 -9, 7 83 =-3

REM =0 PS =10

5 SRR 3 3 S 6 30 36 S0 3436 S0 30 3 36 36330 S S-S I SIS

g =23

BEQ
HLT

3

BEQ
HT
¢
BEQ
HLT

; TEST OF DIV
;Egm HIGH NITH -1

1,74

8-9. , 1441 :LORD LOM ORDER WITH -9.
83 x4 :DIVIDE BY 83

38PS, PSu : PS

oig,vsu :1S PS = 10

] :PS IS WRONG

.;::,zq IS QUOTIENT = -3

) :QUOTIENT IS WROMG
094%%1 1S REMAINDER = 0

; REMAINDER IS WRONG




MAINOEC-11-OCKBL-AR DIV TEST

DCkBLA.PLI

ﬁ:& fise 4

i §§

006503

§ Bk

006552

i3]

013757
122767

oA

022704
001401
000000

Q101
000000

000001

177777
177767
000002

177776
000010

1777

177777

MRCY1l 27(732)

003134
003126

03-SEP-76

18:01 PRGE 36

FHHHHHE SHHEHE I HHE N S 3

§ SHHHHHHHHHHHHHHHHHHHHHHHH
TEST 77 DIV 09. /8224 REMN=z 1 PS=0
5 HHHHHHHEHHHHHHHHH R HHHHHEH I HHHHH

e

DIV

:8: mmx
-#sk?Psa

?EQPS“

o

M

12

81, xM4+1
.+

10 Hich ChEm w0

DIVIDE BY 82

,IS PS =

;PS IS WRCNG

: IS QUOTIENT =
sQUOTIENT IS WRONG
; 1S REMAINDER =
;REMRINDER IS WRONG

¢ SHEHE SR 3HEHEHEHEHHEHHHHEEHEEHHEHHHEHEEHEHHEEHEHEEHHHEHHEEHEE

s TEST 100 DIV

-1-9, /78 =

REM = -1 PS = 10

HHWW!H“’MMW“WW““}!

ROV -
MOV
DIV
MOV

cHPR
BEQ
HLT

cHP
BEQ
HLT

cHP
BEQ
HLT

8-1,%M

8-9.  X4+1

e

810,PSH
L+
8-4, x4
.+

8-1,74+1
.

7530 HIGH HITH -1

DtOH ORDER WITH -9.
DIVI

;IS PS =10

:PS IS WRONG

;IS QUOTIENT = -4
;QUOTIENT IS WRONG
: IS REMAINDER = -

s REMAINCER IS WRONG




MAINDEC-11-DCKBL-A DIV TEST
DCKBLA.P11

006710
006712
206748
006722
006726
006730

000010

17774

022705 000001

LO3

MACY1l 27(732) 03-SEP-76 18:01 PRGE 37

002714

S I 008 T30 S0 38 30 00 S0 90 30 46 20 00 3 3000 30 38 34 9096 36 3% 3 96 90 3¢ 3 3

3 SHHHHHHHHHHHHHHHHHE
sTEST 101 DIV 09. /822 -4 REM3 1 PS = 10
3 SHHHEHHHHHHHHHHHHHHHHHHHHEHHHHHHHHHHHHEHHHEHHHH HHHHHHHH

OPE TOF D
= B bt
8?3 l-é'xq b?aqok °“°5
MOV 3PS, Psu
SE" ) £,Psu ;xs PS = 10
HC ) sPS IS WRONG

-4, %Y :IS QUOTIENT = -

BEQ L4
HLT :QUOTIENT IS WRONG
CHP 81, 7%M4+1 ; IS REMRINDER =
BEQ .+
HLT :REMAINDER IS WRONG

5 SHEHHHHHHHEHHHEHHEEHEE 3 EHEEEEIHE I HE S EHHEHE S HEE S 335 9 9

STEST 102 DIV 02/ 83=0 REN=2 PS =4
§ HEHHHHHHHHHHHHHEHHHHHHHHHHHHHHHHHH HHHHHHHHHHHHHHHHHHHH H

SCOPE :TEST OF DIVIDE
MOV 80, x4 :LORD HIGH ORDER WITH O
MOV mx bon? otw ORDER WITH 2
DIV

MOV anﬁs PSH

CMPB  #4,PSH ,IS PS =

BEQ ¥

T :PS IS WRONG

CMP 80, /4 : 1S QUOTIENT =

BE .+

HL :QUOTIENT IS WRONG

%) o 82, 74+1 : 1S REMAINDER = 2

BEQ 44

HLT :REMAINOER IS WRONG




MO3

MAINDEC-11-DCKBL-A DIV TEST  MACY!l 27(732) Q3-SEP-76 18:01 PRGE 38
DCKBLAR.PL1

3 SHHHHHHHHHHHEHHHHHHEHEHHHHH

;TEST 103 DIV 02/ 9320 REM=2 PSs Y4
ummmum&nmum&mmmmm&mn

006 10701 . [ 1)
oos;g §1 000000 385' € 80, x4 ’L% nx& % NITH O
006740 012705 0000Q2 MOV 82 441 5 OM ORDER WITH 2
7 071427 177775 DIV 8-3 x4 IVIDE BY #-3
006750 013767 177776 00264 MOV 3PS, PSu :SAVE PS
7 00GOOM 002636 M, Poud :15 PS = 4
754 68%1 &405 +4 ’
006766 000000 HLT :PS IS WRONG
006770 022704 000000 CHP 80, /M :IS QUOTIENT = 0
OC-774 001401 BEQ .+
0G6776 HLT :QUOTIENT IS WRONG
007000 000002 CMP 82, W4+1 : 1S REMAINDER = 2
007004 001401 BEQ . +4
007006 000000 HLT :REMAINDER IS WRONG
*lli!*li!i*l*iil!iil!*!!lliilll!{l!l*i*llliii*l!i!ilii!ll!*iil!ii!ii
*TEST I0M DIV -1 -2 /83 =0 REM=-2 PS = Y4
!ii*!*!!l*ii!!iill*ii*ll!i!!i*iliii{ii{iliilii!ifil!i*!ilii*iiil!il!
007010 010701 SCOPE - TEST OF DI a&n
007012 012704 177777 MOV 8-1, %4 :LORD WIGH KITH -1
007016 012705 177776 MOV 8-2, X441 :LOAD LOM ORDER WITH -2
007022 071427 000003 DIV 83, 74 DIVIDE BY 83
007026 013767 177776 002566 MOV 3PS, PSu 2SAVE PS
007034 122767 0000OM 002560 CMPB  o4,PSH 1S PS = 4
NM7042 001401 BEQ Y]
7084 000000 HLT :PS IS WRONG
0J70M6 (022704 (000000 CMP 80, 4 - IS QUOTIENT = 0
007052 001401 BEQ .+
007054 000000 HLT s QUOTIENT IS WRONG
007056 022705 177776 CMP 8-2, 7441 - 1S REMAINDER = -2
007062 0GI401 BEQ .44
007064 060000 HLT :REMAINDER IS WRONG




007074
007100
007104
l
128
007122
0071aM

007130
00713

007134
007140
007142

33 §35§8
i3 REKFE

¥
i

3222
[y
Snias
YRS

P G

d
3

8
—n)
&Sot
—

G B

o000
b P P
gg

e
3R

gi
- N

S

8
&

28
85

s

MAINDEC-11-DCKBL-R DIV TEST
DCKBLA.P1!

=

JUUUUU

000C00

MACYL1 27(732)

002510

002432
GO24eu

03-SEP-76

18:01 PAGE 39

5 SHRSESRIE 0 S0 3 00 08 00 00 30 00 9130 98 38 S0 S 3630 3890 30 36 90 00 9630 363038 3090 0000 30 36 0030300090 9096 0000 00 68 3% 38 38 38 34 3

-1-1/81=-1 REN=0 PS=z10
§ HHHEHHHHHHEHHEH O HHH

i TEST 108 DIV

Sk
MOV
DIV
MOV
g
HLT
cHP

BEQ
HLT

cHP
BEQ
HLT

81,4
T
a8~ %54

810, PSH
L+
8-1,%4

+4
80, Z4+1
.44

1520 ichl OADER wrTH -1

sLOAD LOW ORDER WITH -1
;DIVIDE BY sl
s SAVE PS

;ISPS = 10

;PS IS WRONG

;IS QUOTIENT = -]

s QUOTIENT IS WRONG
; IS REMAINDER = O

; REMAINDER IS HRONG

5 S0 303330 303 S0 S0 3030 0636 00 30 06 30 38 330 09 00 36 2000 30 30 300 36 S-SR S38 338 38 33 9 90 06 30 30 3838 36 3 96 46 31 3630 38 38 38 36 4

sTEST 106 DIV 00/ 81 =0

REM =0 PS=H4

ll**iil*l**llii!*il*il*ill*ll*ll*illli*liil*l*ii***i*i*lll**!*l*i***

SCoPE
MOV
MoV

D1v
MOV

cHPB
Bt
HLT

CMP
BEQ
HLT
CMP

BEQ
HLT

TEST OF DIVIDE
;LORD HIGH ORDER WITH O
;LORD LOW ORDER WITH O

EQVéDSSBY 8l

;ISPS = 4

;PS IS WRONG

; IS QUOTIENT = 0

; QUOTIENT IS WRONG
; IS REMAINDER = 0

; REMAINDER IS WRONG




MAINDEC-11-DCKBL-A DIV TESY

OCKBLA.PL1

007222
0072
0c 230
0CTe M
007240

00724
OC7254
007256
007260
007264
007266
e,
0G727%

007300
007302
007306
007312
007316
00734
007332
007334
007336
007346
007352
007354

3

00
g.—

oge
el

:

&

8
&

G B

177777
=

000010
15252%

A B XS

000001

MACYLl 27(732)

002354
002346

002276
002270

'TEST 107 DIV
22 2222228288824

SCOPE
MOV
i
&99
£

ow
BEQ

P
BEQ
WY

SCOPE
MoV
DY
MoV
CPB
BE
H
BE

H
cHP
HL

BOY

03-SEP-76 18:01 PRGE 40

SHHHHHHHHHHHEHE MR NN R 3

-] 125252 / 82 = ]5258S

REM =0 PS =10

FHHHHHEHHHHHHEHEHHHHHHHHHE HHHEHHHEHEHNHHHHHHHHHHH

.éesasz x4+1 Eﬁ{m@'&n uitH 128262

aés PSM
cig.Psu 1S PS = 10
| :PS 1S WRONG

OLS.ESES,X‘O ; IS QUOTIENT = 152525
; QUOTIENT IS WRONG

80, x4+ | ; 1S REMAINDER = 0
;REMAINDER IS WRONG

4

3 IHHHHHHHHHHHHHHHHHHHHHHHHHHHA
;TEST 110 DIV 0 S2S2S /7 a2 = 25252 REM =1 PS =0
HHHHHHHHHHHHHHHHHHHHHHHHHHHHHR

OF DIVIDE

BB U N
asPs, Psu
00, PSH ,xs PS =z 0

:PS IS WRONG
825252, X4 ;IS QUOTIENT = 26252

:QUOTIENT IS WRONG
1,11 ;1S REMAINDER s |

;REMAINDER IS WRONG




MAINDFC-11-DCKBL-R DIV TESY

OCKBLA.P11

21 & 3 55

s

§

007N76

i 2

=f

007510

Q00
e fms e
d

o

gﬁ"
Land |

:Z.':

ono
5L

1=k

8
S

\77777
177777
17777%
000000
000001
000000

MACYLl 27(732)

002220
002212

002142
0021 3M

03-SEP-76 18:01 PRGE 41
3 L 2 2 22222 astasssal
sTEST 111 DIV -1 -1/7e-13] REMNs (0 PS=0

SCOPE

MOV -1, u ™ -1

o S s [4.

DIV 8-1.Y4

MOV 3PS, PSu

&n 80, PSN .xs PS =0

Q .

LT :PS IS WRONG

gp a&m 1S QUOTIENT = |

u? ) :QUOTIENT IS WROMG

P lgﬁx'm : 1S REMAINDER 2 O

ol

; REMRINDER IS WRONG

'TEST 112 DIV 25253 0 7 8125252 = 100000 REM = 0 PS = 10

7E3 TR 7B §§§§§

0 el

uészse x4

8PS, PSli
om.Psa
.

8100000, x4
.

‘cg_qmﬂ

R =

Iv t%sav 8125252

,IS PS = 10

;PS IS HRONG

+IS QUOTIENT = 100000
;QUOTIENT IS WRONG
;1S REMAINDER = O

; REMAINDER 1S WRONG




MAINDEC-11-DCKBL-A DIV TEST
DCKBLR.P11

2q9eee
EER

5
- N

:

g.’“
=

i

025253
ill:ﬂﬂl
|

000G.0

:

1

:

I

04

MACY11 27(732) O03-SEP-76 18:01 PRGE 42

002064
0020S6

HHHHHHHHHHHNHHHH

§ SHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHEHHHHH HHHH
;Emua DIv 25253 | / 8125252 = 100000 REM s | PS = 10
§ SHHHHHHHHHHHHHHHHHHHHHHHH

RV 825253 x4
MOV 8], x4
Div sl x4
s,
QP8 010,PSH
Q0 .M
T
P #100000, x4
Q.+
LT
crP 81 x4+l
‘A

L HIGG thl ligﬂ 25253
B'Y ll

LIE IR JTX TR 1)

;1S PS = 10

;PS IS WRONG

;1S QUOTIENT = 100000
;QUOTIENT IS WRONG
+1IS REMAINDER = |

; REMAINDER IS WRONG

SCOPE
- MOV XY
ngv " x4+ 1
Div HALLLER,
MOV 3ePs, PSu
CPB  0,PSN
E? .+
HL
cP 877777, %4
BEQ .+
HLT
cP 877776, %441
BEQ s
HLT

“TEST 114 DIV 37777 77777 7/ Q77777 s 77777 REM = 77776 PS = O
2 2 2.2 8 2.8 2. 8.2 822 2.8 28 R 2 8 8 222 8.2 8.8 2 2 8 38 2 8.8 3 3 8.3 82 2.2 2 2223 822 Als2sass s 2asasal

gTEST “‘&?‘DIVIQ “W,%’
A o

;SAVE PS

;ISPS =0

:PS IS WRONG

+IS QUOTIENT = 77777
;QUOTIENT IS WRONG

; IS REMAINDER = 7777%
; REMAINDER IS WRONG




MAINDEC-11-OCKBL-R DIV TEST

DCKBLA.P1!

0C76b54
007664

é

e

(¢

o

Y 5 8 A

geoe
EEE

1427
013767

S B

oqeee
EER

il Bl B8
1§ &

EEE

8

[ ]
0
8
[

:

3

04

MACYLl 27(732) 03-SEP-7% 18:01 PAGE 43

E'rssrus DIV 0 100000 / 82 = Y0000 MM = 0 PS = O
’

SCOPE

B Dl S IR o
MOV  a8PS,PSH ;M

&ga uwsu ;ISPS=0

TRj :PS IS WRONG

gw #4000, x4 ;1S QUOTIENT = 40000

rL? ) ;QUOTIENT IS WRONG

cP 80, X441 ;1S REMAINDER = O

f'f? 4 ;REMAINDER IS WRONG

'TEST 116 DIV O 100001 7 82 = 40000 REM z 1 PS = O

g T F
MOV HIGH NITH O

MOV nbuom X441 omen WITH 100001

DIV ; Q1Y *s

MOV aés,l'su N
CP8  80,PSN .xs PS =0

ac? )

HL :PS 1S WRONG

% o:gm,xu ;1S QUOTIENT = 40000

R ) sQUOTIENT IS WRONG

cp 81, X4+ : 1S REMAINDER = |

BEQ .+

HLT :REMAINDER IS WRONG




MATNDEC-11-DCKBL-R DIV TEST
DCKBLR.P11

3

< e
} § B

Gl B B

TS
gic«

0il.7¢2
010076 01

010104
gi0112
010114

01011
0iC:
010124

010126
010132
01014

i NN

3

1

MACY1l 27(732)

001574
001566

001516
001510

FO4
03-SEP-76 18:01 PRCE W

+ B - S 4 S HHHHHHHHH HHHH N S S M HHMHHH S B R 5 00 8
TEST 117 DIV 20000 37776 / 877777 = Y0000 REM s 7777% PS = 0
R 2 2 2.8 8 8 A2 8 A8 S & 8 2 38 & 24 8 2 8 AAAANARLS 2. 8 8 8 R 2 2 A2 2 8 2ANA2 22 AA2 2 AR 222 AA22ARRE 2821

o o4 600 NIGH O R M[TH
S Nk S O
MOV 39PS,PSN :

&n ?g‘rsu ;ISPS s 0

ML :PS IS WRONG

gr #4000, X4 ;1S QUOTIENT = 4COOO

u.? | sQUOTIENT 15 WRONG

CP 877778, %441 : 1S REMRINDER = 77776

E? - ;REMAINDER 1S MROMG

s IHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH
;TEST 120 DIV 177777 77777 / 8177776 = YWOOOO REM = 177777 PS = 0
5 SHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHEHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHHH

SCOPE ; OF DIVIDE

o N b
%3 3%’“ gwussw 817777

CMPB  #0,PSM ;IS PS 2 0

BEQ ¥

HLT ;PS IS HRONG

5'5'3 #40000, *4 ;1S QUOTIENT = 40000

HLT ;QUOTTENT IS MRONG

% .Ig????,x'#l : IS REMAINDER = 177777

WT ;REMAINDER IS WRONG




2 J3K 2BER

3 Ry

QOO0 000 OO0 OO0O0O0O0

[ o et Pues pras P Pt pme Pt fus Pt Pt Pram

R
nNo

MAINDEC-11-DCKBL-R DIV TEST
OCkBLR.PLL

100001

3 b

000001

GOY4

MACY1l 27(732) (03-SEP-76 108:01 PRGE 45

HHHHHHHHHHH
TEST 121 DIV 157777 100001 » #100000 = 40000 REM = 100001 PS = Q
A AR t e S - S e B B

SCOPE ST OF DIVI
MOV 8! X4 MIGH OF .
303 '{ "mml mutssv 8100000 “ l 1
IV -y
CP8  #0,PSM 1S PS = 0
ar:? )
HL :PS IS WROMG
&fz womoﬂ X4 : 1S QUOTIENT = 40000
T ) :QUOTIENT IS WRONG
Kcm oigoom.mx : 1S REMRINDER = 100001
n? ) ;REMRINDER IS WRONG
H HHHE
TEST 122 DIV 052525 » 852625 = ; REM = 0 PS =
« BSHHHMHNHEHHE - S AT B T 3
SCOPE
MOV 80, x4 uxm n
MOV XML
A m
MOV 3PS,
CMPB  90,PSH IS PS = 0
m? .
HL :PS IS WRONG
CHP 81,4 1S QUOTIENT = |
az* .+
HL :QUOTIENT IS MRONG
s o 80, x4+ 1 1S REMAINDER = 0
BEQ Y
HLT :REMAINDER IS WRONG




HOY

MAINDEC-11-DCKBL-R DIV TEST  MACY1l 27(732) 03-SEP-76 18:01 PRGE 46
DCKBLA. P11 )

mmuuummcnm& L 2 2 |
rssnea DIV 0Sc.24/ 8 2630 REM 352524 PS 2 4
48 S 0 -0 R0 091 6 4 390 9 30 B4 4 SRR
010272 0l SCOPE :TEST OF DIV 1
0157 313;3& 000000 MOV 80,4 :L nmoc ;Hm
610300 omos ! MoV 85N e ] .L mn W1 sgsa
010304 0.5 oIV » XY ,
010310 1 177776 001304 MOV s, :
10316 7 0000OM 001276 CMPB  #M, PSH IS PS 2 4
31032-4 &%1 BEQ A ’
010326 000000 T :PS IS MRONG
10330 000000 80, "M 1S QUOTIENT = 0
SN oia) &% -
01033 R§ :QUOTIENT IS WRONG
0100 (022705 (0S252M cP 852524, X4+ | : 1S REMAINDER = 52524
0103¥4 0G40l asg .
010396 000000 M :REMAINDER IS WRONG
: SN
STEST 129 DIV 00/ 8125252 =0 REM =20 PS = 4
;HH!HHHHH}H{HMH
1 10701 SCOPE T OF DIV}
1C. 81270» 000000 MOV 80, X4 HIGH orogn HITH O
0iCs6 Ol 002000 MOV 80’ x4+ !5 ou ORCER WITH O
010362 071 126252 DIV uészsé x4 IVIOE BY 8125252
010366 013767 177776 001226 MOV 3PS PSl
10374 ? 000004 001220 CMPB a4, PSH xs PS z 4
10402 %n%x BEQ .44 '
010404 000000 T :PS IS WRONG
010%%6 022704 000000 gv 80, XM ;1S QUOTIENT = 0
010412 001401 Q oA
010414 000000 LT :QUOTIENT IS WROMG
Diss Goiag; oo Ho 115 RERRINDER = 0
010424 000000 HT ) :REMAINDER IS WRONG




— ——— = —

I04

MAINDEC-11-DCKBL-A DIV TEST  MRCYLl 27(732) 03-SEP-76 18:01 PRGE 47

DCKBLR. P11
2 12 sl s st ananiens 4
Tzsrxas DIV 177614 66750 7 #40342 = 177070 REM = 0 PS = 10
08 S0 ST 3 S0 40 00 4198 0 9101 90 90 9 91 30 9 1 4 940 9040 30 8 S0 0650 - SHEHEH RS040 40 0 9IS HEHHEHMEHINNE 55 HPHE
ofow: 30 0}0701 77614 novE e 8177814, XY TEST “oﬂ"m NITH 4
hEE e % ERS N
010444 gﬁmﬂ 179’?7% 001150 MOV g:ggq Séu gm{
0109S2 122767 000010 001142 CMP8  810,PSN 1S PS = 10
01040 001401 BEQ .44
0i0¥e2 000UO0 HLT :PS IS WRONG
010464 022704 177070 CHP 8177070, x4 1S QUOTIENT = 177070
010870 001401 BEQ i
010472 000000 HLT :QUOTIENT IS WRONG
010474 022705 (000000 CHP 80, XM+ 1 :1S REMAINDER = 0
010500 00140 aeg e
010502 oooucﬁ HL :REMAINDER IS WRONG
Tcsnas DIV 077777 7 80 = DUM#TY REM z DUMMY PS =z 3
m&m 2 s tataaafiatal L 2 2 2 )
U8 1% o wme  HSLENME g
010512 mez% MoV 8 , X441 :L0RD &n uﬁn ux*n
010516 071 DIV 90, "4 :DIVIDE BY 80
010522 013767 177776 001072 MOV 8PS, PSN :SAVE PS
010530 OM2 000014 001064 BIC 81y, Psi
010536 7 000003 001056 CP8  83,PSH ;IS PS = 3
81 1 xg .+
10546 HL :PS 1S WRONG
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o000
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R

Pk

cop cooooo
: B
2 g8
S géfi‘

e

(o] o)
P s
gp
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Pron
oo

010624

F
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MACYLl 27(732)

CC102%6

8
K

001012

3

04

03-SEP-76 18:01 PAGE 48

sTEST 130 DIV 0 52525 / Sl =
ummﬂumlmum

;lll?ill “!HWH!&!H!“&HH!M“’!’!!!!Hlli"lllll
sTEST | D1v 1 / = QUMY REM = DUMMY PS = 2
5 SRR IEESHE S I 3 3 S35 4 3 9030 39038 19 3 91 30 3 21 3 %
v 5 B w7
m umﬁ X441  :LORD LG;Y ORDER WITH 177777
MV ws PSH SMOSS
BIC 814, PSid
coP8  82,PSH 1S PS5 = 2
BEQ Y
HLT :PS IS WRONG
MOV 82, @
MOV :‘ga
MOV 7]
'H!{H»H . 2 2 022 8280 2 A2 8 Ao 2 Ao R AR L AR SRt ot ARE &L L

25252 REM = | PS =0
HHHHHHHHHHHHHHHHE

TR HHE - HE R

scmvops : TEST OF tat:wis T
B 5% P e
DIV vl

MOV acbs PSH

CMPB  80,PSW ;xs PS = 0

BEQ L+

HLT :PS IS WRONG

% cgsqasa,-/n :1S QUOTIENT = 25252

HLT ] :QUOTIENT IS WRONG

CHP 81,7041 - 15 REMAINOER = 1

BEQ .

HLT -REMAINDER 15 WRONG




KO4

HRINDGCPII-DCKBL-Q DIV TEST  MACY1l 27(732) O03-SEP-76 18:01 PRGE 49

OCKBLA

3 SHHHHHEHHHHHHHHH HHH

sTEST 131 DIV 052526 / 352 = 25262 REM = | PS 2 0
l!ll!}!!llil!iliill!llliliill!!il!ﬁ!ili!lllllli!lllllilll!ll!lllllll

R 5 8., RIS

010720 071077 00070M DIV oxvme BY as2
010724 013767 177776 000670 MOV ws PSH

&m 80, PSH .rs PS =0

Q .+

HLT :PS 1S WRONG

&m aajasa,m :1S QUOTIENT = 25282

m? ] :QUOTIENT IS WRONG

% 'i#m” - 1S REMAINDER =
010762 000000 HT ) sREMAINDER IS WRONG

o BE R IHEHEHE S IS HEHEHHHEHHHHEHHHH #

75T 132 DIV 062525 / a#5] = 26252 REM =1 PS =0
S HRHHHHHHHHHHHHHH

1 1

318;2: x%tmrm 333“ 80,10 ngo cao&nurmo
010772 012701 052525 MOV 852525, %0+ 1 : LORD Lou ORDER WITH 52525
010776 071037 011626 DIV 3851, Iv nsssv FT3)

011002 013767 177776 000612 MOV 3PS, PSW gavé

011010 122767 000000 000604 CMP8  80,PSH 1S PS =0

011016 001401 BEQ )

011020 HLT :PS 1S HRONG

011022 (022700 025252 CHP 825252, %0 :1S QUOTIENT = 26262
011026 001401 BEQ .4+

011030 000000 . HLT sQUOTIENT IS WRONG
011032 000001 CHP 81, %0+1 : 1S REMAINDER =

011036 041401 BEQ .4

011040 000000 HLT :REMAINDER IS WRONG
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MAINDEC-11-0CKBL-R DIV TEST MRCYll 27(732) Q3-SEP-76 18:01 PAGE SO
OCKBLA.P11

3 SHEHHHEHEHHEHE DS N

sTEST 133 DIV 05256 / @ = 25252 REM = | PS 2 0
§ HEHHHHHHEHEHHEBHHE I HHHH I HHHHHEHHHEHHHEHHHHHHH

011082 81070 SCOPE r& o&a

011044 127:15 000000 MOV HIGH N m 0

011050 012701 052525 MOV cséses %0+1 &i onnca NITH 52525

011054 071002 DIV oxvme

011056 013767 177776 000536 MOV a-f-'s.Psu : SAVE PS

Sﬁummm &ma ngqpsu 1S PS = 0

011074 HL ] :PS IS WRONG

011076 022700 025252 CMP 825252, %0 - 1S QUOTIENT = 25252

011102 00140 as$ o

011104 HL :QUOTIENT IS WRONG

011106 022701 0O000O! CMP 81, 70+1 :1S REMAINDER = |

guua 1 asg .+

11114 HL :REMAINDER IS WRONG
l!!!iil!illl!i!lll!llllilil!lliilil JHESHEH I 096 33 5 3
TEST 134 DIV 062525 / (3)+ = 26262 REM =1 PS =0
liiil!iiii!ill!i{{iliil!!!lliiiiiill S350 SR 08 38 348 300 3% 16 30 48 3 9496 3 8- 38

T R =l 558 TR i

011124 012701 052525 MOV oséses %0+1 % &‘ ur*n sgszs

011130 071 DIV (3)+,70 owic BY (3)+

011132 013767 177776 000462 MOV 38PS . PSW :SAVE PS

011140 122767 000000 000454 CMPE  80,PSH :1SPS =0

011146 001401 BEQ .4

011150 000000 HLT :PS IS WRONG

mug 025252 SE' 825252, X0 :1S QUOTIENT = 25252

0111 1401 Q L+

011160 000000 HLT :QUOTIENT 1S WRONG

011162 022701 000001 CMP 81, %0+1 : 1S REMRINDER = 1

011166 001401 BEQ .+

011170 000000 HLT :REMAINDER IS WRONG




MIPDEC ll-Di‘i(BL-ﬂ DIV TEST
OCKBLR.P

MACY1l 27(732)

Bl figdh

olizdf Qlomi GSoees
011204 071043

011206 013767 177776 000406
011214 g‘é’?ﬁ? 000000 CO0400
0lic22 1401

Oliced 000000

011226 022700 025eSe

011232 001401

011234 000000

01123 022701 000001
Ollic42 001401

011244 000000

Ollz246 010701

011250 012700 000000

0i1254 012701 052525

0i1260 071064 000002

0i1264 013767 177776 000330
011272 122767 000000 000322
011300 001401

011302 000000

011304 022700 025252

011310 001401

011312 000000

011314 022701 000001

011320 001401

011322 000000

MOY4

03-SEP-76 18:01 PRGE SI

5 SR I S 0 0 0 S 30 00 30 30 30 S0 00 30 0 300 00 - 30 3 5 0 S 30 30 38 3%

sTEST 135 DIV 052525 / -(3) = 25252 REM =1 PS = 0
3 HEHHHEHHHHHEHHHH S HHHHHEHHHEH I HHHEHHHH

g Wich BEs i g

852525, %0+1 Lou ORDER MWI
-(3), % oxvmc BY -(3)

8PS PSH :SAVE PS

oggpsu :ISPS =0

) :PS IS WRONG
ug&asa.xo ;1S QUOTIENT = 26252
) : QUOTIENT IS WRONG
'1470” :1S REMAINDER = 1

; REMRINDER IS WRONG

¢ SHEIHIE IS S S S 32 36 SIS S S HEHEHHEHHEHEHEHEEHE S IHHEHEE 3 % %

;TEST 136 DIV 0 52525 / 2(4) = 26252 REM = | PS = 0
3 HEHHHBHHEHHHHHHHHHEHHHHHERHHHHHHEHEHHHHHHHHHHHHHHHHHHHHHEHHHH

§§§§

3 2

BEQ
HLT

BEQ
HLT

3

BEQ
HLT

: TEST OF DIVIDE
00, %0 Lono HIGH ORDER WITH O
852525, %0+1 :LORD LOM ORDER WITH 52525
2(9), 4 :DIVIDE BY 2(4)
3PS, PSH :SAVE PS
cgépsu :ISPS =0
] :PS IS WRONG
najasa.zo :1S QUOTIENT = 26252
] :QUOTIENT IS WRONG
oiqzou : 1S REMAINDER =

; REMAINDER IS WRONG
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MACY11 27(732)

000176
000170

03-SEP-76 18:01

NO4
PRGE 52

§ SHHHHHHHHHHHEHHHEHEHEHHEHEHE 2333 33630 36 96 36 36 96 36 3 3 3 36 36 3 3

sTEST 137 DIV 0 52625 / 3(4) = 25252

REM =1 PS=0

I!liii”!l!&!liilliil!llllll!!’i!iii!lilli!{!lllili{ 33090 3698 3% 95 3% 3 3% 3 3 3% 3%

SCOPE
MOV
MOV
DIV
MOV
cHP8
BEQ
HLT
LHpP
BEQ
HLT
cHP

BEQ
HLT

TEST OF DIVIDE

11080 L0 0RDER WITH Sos2s

a(4), 7 DIVIDE BY a(Y)
J8PS, PSW :SAVE PS
.angsu ;ISPS =0
:PS 1S WRONG
.nggasa,xo ;IS QUOTIENT = 26252
:QUOTIENT IS WRONG
uiq-/.un ;1S REMAINDER = 1

; REMAINDER IS WRONG

3 JeJ 35036 S JEUEE 3006 300090 36 30 30 36 38 300 30 08 336 3098 S0 98 38 96 38 36 0 S0 9898 38 9106 38 38 3004698 3830946 38 38 36 90 36 38 38 36 3 3830 46 94 3%

sTEST 140 DIV 0 52525 / 3(4)+ = 26252

REM =1 PS=0

!ii!l!llii!llliIl!iliillilil!illi*lili!i!iiillillii!iliii*lillliili!

SCOPE
MOV
MOV
DIV
MoV

cHPB
BEQ
HLT

cHP
BEQ
HLT

cHP
BEQ
HLT

:TEST OF DIVIDE
0, %0 ,Lono HIGH ORDER WITH 0
450525, 70+1 LOAD LOM ORDER WITH 52525
d(4)+. 70 DIVIDE BY d(4)+
3sPs, PSu :SAVE PS
:gqpsu -ISP5 =0
) :PS IS WRONG
cgaasa.m : 1S QUOTIENT = 256252
] :QUOTIENT IS WRONG
nhmu : 1S REMAINDER = |

; REMAINDER IS WRONG
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DCKBLA.P11

LR

' ) $ SHHHHHHTHHE R RHERHE IS S SHEE 5 5 3558 5855 0 308 58036 S IHE 33 33
sTEST 141 DIV 0“/8"("”85& REHal PS=0

) ~l!lil§lliii!! llli
011456 mtrmx g SCOPE * s TEST
011460 000000 : ROV && ; u TH o
0114 8;2%2“ 052525 g?v %041 . D&
o114 v a4 . By g
01i472 013767 177776 000122 KOV  JcPs,PsH sSAVE
011500 000000 000114 0, PSY -xsps=o: ol
011506 &num L %Ioa e SN S >
011510 (0O0CO00 A HLT sPS 15 BRONG
011512 N25252 ChP 825252, %0 315 QUOTIENT = 25282
011516 0OI40 * gEQ .
011520 HLT - sQUOTIENT IS KRONG
011522 | 300001 CKP 81,%0+1 1S REMAINDER = 1
011525 DOI0) BEQ 4
011530 (D000 HLT :REMAINDER 1S MRONG
011532 005287 167242 INC ICNT
Eﬁ% lmrﬂ:a:' 167236 gmn KOV ICNT aula SPLAY
011552 L%ﬂ% 0=0000 et &ﬁo' 46
011554 O0OD16? 167222 JHP azu.
011580 OOSDS? 16721 CLR ICNT
8{155'1 105737 177564 ELTB anmssu
m15 0 155 77556 KOVB nmsss
mi% %‘% % ! KOV né ;esr nomroamnooasss
011604 001404 BEQ SKIP IF NONE
um:ﬂg m JSR (0) ;coancxtommunoa
31 , NOP
1 000240 NOP
D11614 0OO240 NOP
011616 000137 000200 18: JEP 3200 :RESTART THE PROGRAH
ot oo - ~
011636 &m 51: 2
011630 011626 g2: = S
011632 0ODOGZ 53: 2

g

«
R
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Pl

LIST

DEFAULT GLOBALS GEMERATED: O

SE /0S:EAFZ/EN: ABS=0SKN: DCXBLA. P11
%
(12 )

fid?
6K

I |

ERRORS DETECTED:
CORE USED:

#0CKBLA, DCXBLA.
RUN-TI*E RR

RUN-TI
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